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No ST REH HEniEsE t 134 + ) L-137 SEE

Bag. kg Ba. kg Ba ke
1 A= R7.9.1 A5 BREE9(<4.6) BRHEE3(<4.8) BRHEEY
2 SR T R7.9.1 E—<> BRHEE9(<5.2) BREE9(<3.9) BRHEET
3 = [T R7.9.1 75 (HEER BRHET(<L5.0) BRHET(<4.9) BREed
4 At R7.9.1 71) BRHE9(<6.0) BRHEE9(<4.6) -
5 E%AH R7.9.1 21) BRHEE9(<3.8) BRHEE3(<3.1) BREed
6 KEHR R7.9.2 71) BREE9(<4.9) BRHEE9(<3.2) -
7 g R4t R7.9.1 AFSY BRHET(<3.0) BRHET(<2.9) BRHEET
8 g E A R7.9.1 1) BREE9(<5.7) B®RHEE9(<3.2) BT
9 YR THT R7.9.2 miEFY BREE9(<3.1) BRHE3(<2.6) BEed
10 WIEHT R7.9.1 TR (5EE%) BRHEE9(<38.2) BRHEE9(<3.1) BT

BaBEECIB T2 —BREBEROEEE 9L 100Bg/kg(t> 9 L-134, £ HL-13TOEEIE)




